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Question Number : 1 Question Id : 8247241849 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion(A) : Children should be provided with love, care and lot of opportunities to develop and

learn in early childhood.
Reason(R) : Outcome of severely deprived childhood can be easily modified in later years.

Choose the correct option.

Options :

1. Both (A) and (R) are true and ( R) is the correct explanation of ( A)

2. Both (A) and (R) are true but (R) is not the correct explanation of ( A)
3.(A)is true but ( R) is false

4. Both (A) and ( R) are false

Question Number : 1 Question Id : 8247241849 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 8247241850 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Jean Piaget's theory is critiqued for having proposed four stages of cognitive development. Which

debate of child development does this fall under?
Options :

1. inclusion

2. sensitive periods

3. continuity / discontinuity

4. nature / nurture

Question Number : 2 Question Id : 8247241850 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 8247241851 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The kind of learning in which children learn through imitation of others is called -
Options :

1. Social learning

2. Behavioristic learning

3. Discovery learning

4. Humanistic learning

Question Number : 3 Question Id : 8247241851 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 8247241852 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

At which stage of cognitive development does the ability for abstract thinking and scientific

reasoning develop?

Options :

1. Pre-operational stage

2. Sensori motor stage

3. Concrete operational stage

4. Formal operational stage

Question Number : 4 Question Id : 8247241852 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 8247241853 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget's cognitive development theory, which of the following is essential for

cognitive development?



Options :

1. Observation of the environment.

2. Reinforcements by adults.

3. Active exploration of the surrounding.

4. Condition of Stimulus and Response.

Question Number : 5 Question Id : 8247241853 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 8247241854 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the correct example of scaffolding?
Options:

1. Sumit gives his friend his notebook to copy the answers.

2. Sumit helps his friend by giving her the appropriate amount of assistance he needs for solving

each question.

3. Sumit helps his friend by writing all the answers in his notebook.



4. Sumit tells his friend that she has to do all the questions on her own.

Question Number : 6 Question Id : 8247241854 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 8247241855 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Zone of proximal development is a space.
Options :

1. dynamic

2. rigid

3. mechanical

4. stagnant

Question Number : 7 Question Id : 8247241855 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 8247241856 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is a critique of Lawrence Kohlberg's theory of moral development?
Options :

1. Stages in Kohlberg's theory are well defined and distinct.

2. Kohlberg's approach to moral reasoning underestimates the moral maturity of females.

3. Stages in Kohlberg's theory draw upon the characteristics used by Piaget to describe the

sequence of cognitive development.

4. Kohlberg did a longitudinal study with his participants where he interviewed them at three to

four year interval.

Question Number : 8 Question Id : 8247241856 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 8247241857 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A ‘child centered’ pedagogy

(i) incorporates diverse pedagogic methods

(ii) promotes democratic classroom practice

(iii) considers children's psychological development

(iv) gives primacy to the teacher’s authority
Options :

1. (i), (iii), (iv)

2. (i), (i), (iv)

3. (iii), (iv)

4. (i), (i), (iii)

Question Number : 9 Question Id : 8247241857 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 8247241858 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Gender segregated seating arrangement and rigid gender based learning tasks in a middle

classroom would -

Options:

1. encourage gender equality
2. facilitate gender equality
3. lead to gender bias

4. promote gender stereotype flexibility

Question Number : 10 Question Id : 8247241858 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 8247241859 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Use of IQ tests as a measure of intelligence -

Options:

1. is valid since they can predict intelligence accurately.

2. has been critiqued since many tests are culturally biased.

3. is very useful to rank and sort students in clear cut categories for their educability.

4. helps the teacher in predicting students’ academic performance and success.

Question Number : 11 Question Id : 8247241859 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 8247241860 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As per National Education Policy 2020, assessment of learners should include the progress as well

as uniqueness of learners in -

Options :

1. cognitive, social, spiritual domains.

2. cognitive, physical domains.

3. cognitive, affective, psychomotor domains.

4. physical, physiological, psychological domains.

Question Number : 12 Question Id : 8247241860 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 8247241861 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following questions would NOT assess critical thinking?

Options :

1. Find the value of x if the equation 2x = 12.

2. Think of the reasons for rise in level of pollution and explore possible solutions.
3. What measures can be suggested to promote religious harmony?

4. Can there be a proof of Pythagoras theorem using vedic mathematics?

Question Number : 13 Question Id : 8247241861 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 8247241862 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to cater to individual differences in her classroom a teacher should -



(i) point out the economic background and caste of all learners in the class.
(i) give learners opportunities to share their experiences in the class and value them.
(iii) intentionally exclude diverse cultural perspectives in the class.

Choose the correct option.
Options:

1. (i), (ii)

2. (i), (iii)

3. (ii), (iii)

4. (i), (i), (iii)

Question Number : 14 Question Id : 8247241862 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 8247241863 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Learning of students from disadvantaged sections should be promoted by -
Options :

1. asking them to keep home tuitions.

2. giving them lot of recall based worksheets.

3. inducing fear and shame of failure

4. providing appropriate pedagogical support

Question Number : 15 Question Id : 8247241863 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 8247241864 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following traits is a characteristic of children who are gifted?



Options :

1. Highly superior social skills and maturity as compared to their peers
2. Low perseverance in tasks

3. Curiosity and inquisitiveness

4. Choice of lower order thinking tasks

Question Number : 16 Question Id : 8247241864 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 8247241865 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Special education in special schools for students with learning difficulties:
Options :

1. is not desirable since it can be overly restrictive for the learners.

2. is desirable so that learners with learning difficulties are segregated from those without

learning difficulties.

3. is desirable so that education of learners with learning difficulties centres around only



vocationalization.

4. is not desirable since it is expensive and demanding for the teachers.

Question Number : 17 Question Id : 8247241865 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 8247241866 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Excessive physical movement, inattention and impulsivity are primary characteristics of:
Options :

1. Attention Deficit Hyperactivity Disorder

2. Auditory processing disorder

3. Language processing disorder

4, Dyscalculia

Question Number : 18 Question Id : 8247241866 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 8247241867 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about inclusion is NOTcorrect?

Options :

1. Inclusion means providing choice and options for learner amidst an array of activities and
experiences.

2. Inclusion implies accepting all learners without imposing normative standards.

3. Inclusion involves investing in categorization and labeling of learners based on their academic
abilities.

4. Inclusion includes use of diverse pedagogical strategies and respecting individual students’

pace of learning.

Question Number : 19 Question Id : 8247241867 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
frferfiaa 3 & -7 2= THET ¥ a1 ° 98 T8 87

Options :



T 74 T T, R S St o o 3 - 3 o 4 e s e

AT oy v i e e 4 s fom e g e T

2

N I H TSI T S TSN JIATe! 3 AT U ST 37 AT A 2

. T 3 e R T e e e e et vt o e o e e e

Question Number : 20 Question Id : 8247241868 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What adaptions should a teacher make while engaging learners who are visually challenged ?
(i) speaking clearly and loudly with appropriate pauses

(i) use text to speech softwares

(iii) use a variety of colourful worksheets

(iv) use a lot of tactical materials
Options:

1. (i), (iii), (iv)

2. (i), (i), (iii)

3. (i), (ii), (iv)

4. (i), (iii), (iv)

Question Number : 20 Question Id : 8247241868 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 8247241869 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following characterizes a socio-constructivist classroom?

Options:

1. Fixed seating arrangement.

2. Teacher giving instructions and expecting the learners to be passively obedient.
3. Memorization of facts by the learners.

4. Learners discussing on topic while working in a group.

Question Number : 21 Question Id : 8247241869 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 8247241870 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A student does not perform well in school, a teacher needs to -
Options :

1. analyze the system

2. blame the parents

3. shame the student

4. refer the student to special school

Question Number : 22 Question Id : 8247241870 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 8247241871 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Internalization of continuous experiences of ‘not understanding’ and blaming the self for inability

to learn and perform in the classroom can potentially result in -
Options:

1. learned helplessness

2. motivation to learn more

3. mastery orientation

4. belief in incremental view of ability

Question Number : 23 Question Id : 8247241871 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 8247241872 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : A teacher should not design learning tasks that encourage children to seek out

knowledge from sites other than the textbook
Reason( R) : Learning and knowledge is ‘transmitted’ and not sought or constructed.

Choose the correct option.

Options :

1. Both ( A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A) is true but (R) is false

4. Both (A) and (R) are false

Question Number : 24 Question Id : 8247241872 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 8247241873 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Meaningful learning takes place

Options :

1.in a linear rather than a spiral manner

2. when teachers dismiss emotional aspects of students
3. through direct instructions by the teachers

4. through active interactions of students with the environment

Question Number : 25 Question Id : 8247241873 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
ST HGAT —

Options:

THET &Y F BAT 2, 7 % IqeE ' 5|

1

, T B & S fvereh feraiiia < weTeeh weeqa Bt T

5 ToTerant grer ey g g fHenifid w2
, TN At uftasr & wny wEhe oA R EE

Question Number : 26 Question Id : 8247241874 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following goals should be promoted among students for motivating them to learn?
Options:

1. Approach focused, mastery goals

2. Avoidance focused, performance goals

3. Approach focused, performance goals

4. Avoidance focused, mastery goals

Question Number : 26 Question Id : 8247241874 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 8247241875 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Metacognition is -

Options :

1. intuitive theories that children construct about everyday phenomenon.

2. the process of thinking about one’s own thinking.

3. the process of modifying existing schemes to accommodate new information.

4. a visual and hierarchical representation of various sub-concepts.



Question Number : 27 Question Id : 8247241875 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 8247241876 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Effective teaching would require -

(i) focus on reproduction of facts

(i) focus on textbooks as the only source of knowledge

(iii) critical analysis of facts and perspectives

(iv) giving primacy to the prior experiences of the learners.

Choose the correct option.

Options :



1.(i), (i)
2. (iii), (iv)
3. (i), (iii)
4. (ii), (iv)

Question Number : 28 Question Id : 8247241876 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 8247241877 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To promote conceptual understanding among students, a teacher should NOT -
Options:

1. use analogies.

2. give examples and non - examples.



3. make linkages with previous knowledge.

4. focus on mere reproduction of information.

Question Number : 29 Question Id : 8247241877 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 8247241878 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following emotions would encourage students to put efforts in learning?
Options :

1. Frustration

2. Boredom

3. Anger

4. Pride

Question Number : 30 Question Id : 8247241878 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Social Studies or Social Science
SectionId: 82472456
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60
Section Marks : 60
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724104
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8247241879 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of following statements is/are true for Harappan cities

(i) Lothal had five altars, where sacrifices may have been performed.

(ii) Kalibangan had evidence of ploughed field.
Options :

1. only (i) is true

2. Only (ii) is true

3. both (i) and (ii) are true

4. both (i) and (ii) are false

Question Number : 31 Question Id : 8247241879 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 8247241880 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Match the following.

Place/Sites States
A. Bhimbetka l. Maharashtra
B. Rajgriha 1. Karnataka
C. Inamgaon 1. Bihar
D. Brahmagiri IV. Madhya Pradesh
Options :

1. A-1, B-1I, C-1II, D-1V
2. A-1, B-1V, C-II, D-III
3. A-1V, B-III, C-I, D-II

4. A-1v, B-1II, C-II, D-1

Question Number : 32 Question Id : 8247241880 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 8247241881 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of following is true about al-Idrisi and the map made by him?
A. He was Persian geographer.

B. The place names are marked in Arabic.

C. Sri Lanka appears on top and North India on bottom.

Choose the correct option.
Options :
1.Aand B
2.Aand C
3.Band C

4.0nly A

Question Number : 33 Question Id : 8247241881 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 8247241882 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Read the statements and choose the correct the option:

Temples and mosques were constructed by rulers to

A. proclaim their closeness with God

B. demonstrate power and wealth

C. appease and get support of priestly class
Options :
1.Aand B
2.Aand C
3.Band C

4. ABandC

Question Number : 34 Question Id : 8247241882 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 8247241883 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following two statements A and B on British role in tribal affairs and select the

correct answer.
A. Under British rule, the functions and powers of the tribal chiefs changed considerably.

B. Tribal chiefs were allowed to keep their land titles over a cluster of villages and rent out lands

and retained administrative power.
Options :

1.0nly A

2.0nly B

3. Neither Anor B

4. Both Aand B



Question Number : 35 Question Id : 8247241883 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 8247241884 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): The Mughals did not believe in the rule of primogeniture.
Reason (R) : They followed the custom of coparcenary inheritance.

Choose the correct option.

Options :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).
2. Both (A) and (R) are correct and (R) is not correct explanation of (A).

3. (A) is true, but (R) is false.



4. (A) is false, but (R) is true.

Question Number : 36 Question Id : 8247241884 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 8247241885 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements for tribals in India during colonial period and choose the
correct option.
A. The life of tribals did not change during British rule

B. Tribal areas were managed by tribal chiefs even under British rule.

C. Tribal chiefs were unable to fulfil their traditional functions.
Options :
1. Only Ais correct

2.0nly Bis correct



3.Only Cis correct

4. Both A and C are correct

Question Number : 37 Question Id : 8247241885 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 8247241886 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): After the Revolt of 1857, more soldiers were recruited from among the Gurkhas,

Sikhs, Pathans and South India.

Reasoning (R): These soldiers were loyal to the East India Company and did not take part in the

rebellions.

Choose the correct option.

Options :



1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct and R is not correct explanation of A.
3. Ais true, but R is false.

4. Both A and R are false.

Question Number : 38 Question Id : 8247241886 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 8247241887 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The style of painting depicting India as a quaint land to be explored by travelling British Artists is
Options :

1. realism

2. portraiture

3. perspective

4. picturesque



Question Number : 39 Question Id : 8247241887 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 8247241888 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Paramhans Mandali was founded for the abolition of
Options :

1. sati

2. caste

3. child marriage

4. honour killing

Question Number : 40 Question Id : 8247241888 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 8247241889 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The basis for demanding caste equality by Sri Narayana Guru was

A. to demand work opportunities outside their assigned caste

B. the belief that all humankind belonged to the same caste

C. western education and its provision to improve one's social status

Choose the correct option.
Options :

1.0nly A

2.0ny B

3.0nly Cis

4. A,BandC

Question Number : 41 Question Id : 8247241889 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 8247241890 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion(A): In Permanent Settlement, the zamindars had to collect flexible rent from the

peasants and pay fixed revenue to the Company.

Reasoning (R) : In making the rent flexible, the Company thought it would encourage the

zamindars to invest in improving the land.

Choose the correct option.

Options:

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct and R is not correct explanation of A.
3. Ais true, but Ris false.

4. Both A and R are false.



Question Number : 42 Question Id : 8247241890 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 8247241891 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
If you were a moderate leader, which of the following methods would you have taken against the

British rule?

A. Develop public awareness against unjust rule

B. Boycott British institutions and goods

C. Send representatives to different parts of the country to mobilise public opinion.

Choose the correct option.



Options :
1.Aand B
2.Aand C
3.Band C

4. ABandC

Question Number : 43 Question Id : 8247241891 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 8247241892 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Mahatma Gandhi's ashes was immersed in
Options :

1. Ahmedabad

2. Allahabad



3. Delhi

4. Porbandar

Question Number : 44 Question Id : 8247241892 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 8247241893 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following planets is considered as Earth's twin because its size and shape are very

much similar to that of the Earth?
Options :

1. Mars

2. Saturn

3. Uranus

4. Venus

Question Number : 45 Question Id : 8247241893 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 8247241894 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following list:
Krishna, Kaveri, Godavari, Tapti and Mahanadi.

In this list which one of the following is different from the others?
Options :

1. Krishna

2. Kaveri

3. Godavari

4. Tapti

Question Number : 46 Question Id : 8247241894 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 47 Question Id : 8247241895 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Statement (A): The places located west of Greenwich will be ahead of Greenwich time and those to

the east will be behind it.

Statement (B): The earth rotates from west to east.

Select the correct option.

Options :

1. Both A and B are true but B does not explain A
2. Ais true and B is false

3. Aisfalse and B is true

4. Both A and B are true, and B explains A

Question Number : 47 Question Id : 8247241895 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 8247241896 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : The difference between the durations of day and night is hardly felt at Kanyakumari

but not so in Kashmir

Reasoning (R) : The longitudinal extent influences the duration of the day and night as we move

from south to north.

Select the correct option.

Options :

1. Both A and R are true, but R does not explain A
2. Aistrue and Ris false

3. Ais false and Ris true

4. Both A and R are true and R explains A



Question Number : 48 Question Id : 8247241896 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 8247241897 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The characteristics given in the statements a, b and c are related to:
(a) it is flat-topped table land.
(b) it has one or more sides with steep slopes.

(c)itis rich in minerals.
Options :

1. Mountain

2. Plateau

3. Basin

4. Hill



Question Number : 49 Question Id : 8247241897 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 8247241898 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which among the following statements is true?

Options :

1. Temperate deciduous forests are the monsoon forests

2. Tropical deciduous forests are found in large parts of India

3. Hardwood trees like rosewood and ebony are found in temperate evergreen forests.

4. Tropical forests are also called as 'Taiga'

Question Number : 50 Question Id : 8247241898 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 8247241899 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which among the following statements regarding the Mediterranean vegetation are correct?
(a) It is only found in the area around the Mediterranean sea in Europe, Africa and Asia
(b) Citrus fruits such as oranges, figs and grapes are commonly cultivated here

(c) There is not much wild life here.
Options :

1.aand b only

2.b and conly

3.aand conly

4. a only.

Question Number : 51 Question Id : 8247241899 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 8247241900 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is an example of seasonal winds?
Options:

1. Trade winds

2. Westerlies

3. Easterlies

4, Monsoon

Question Number : 52 Question Id : 8247241900 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 8247241901 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider these statements about tides and choose the correct option.
(A) when moon and earth are in the same line then tides are highest

(B) when ocean waters get drawn in diagonally opposite directions by the gravitational pull of sun

and earth then tides are lowest.

(O)high tides are called "neap tides"
Options:

1. Both A and B are correct

2. Both B and C are correct

3. Both A and C are correct

4. All A,B and C are correct

Question Number : 53 Question Id : 8247241901 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 8247241902 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Traditionally to practice hunting, gathering, shifting cultivation and transhumance in deep forests,

people in hot and cold deserts lived in ___.
Options :

1. permanent settlements

2. temporary settlements

3. semi-permanent settlements

4. neither permanent nor in temporary settlements.

Question Number : 54 Question Id : 8247241902 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 8247241903 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is/are the 'push factor' affecting migration?
(A) Better opportunities for work

(B) Better health facilities

(C) Poorer health facilities

(D) Absence of good educational institution

Choose the correct option.
Options :

1. Only (A) and (B)

2. Only (C) and (D)

3. Only (A),(B) and (C)

4. Only (A), (B) and (D)



Question Number : 55 Question Id : 8247241903 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 8247241904 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following age groups represent the working age group in population?
Options :

1. Below 15 years.

2. Between 15 to 65 years.

3. Between 30 to 60 years.

4. Between 30 to 75 years.



Question Number : 56 Question Id : 8247241904 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 8247241905 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following statements on the 'wheat' and choose the correct option.
(A) It is known as 'Golden Fibre'

(B) It requires moderate temperature and rainfall during the growing season.
(Q) It thrives best in black soil.

(D) In India it is grown in the winter season.
Options:

1. Only A and B are correct

2.0nly Cand D are correct

3.0nly A and C are correct



4. Only B and D are correct

Question Number : 57 Question Id : 8247241905 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 8247241906 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

With respect to cultural diversity, which of the following statements is correct?
Options :

1. In Arunachal Pradesh women wear Mekhla Sador.

2. In Manipur women wear a Fanek.

3. In Gujarat people wear Pheran.

4. In Kashmir people wear Langa Voni.



Question Number : 58 Question Id : 8247241906 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 8247241907 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements indicates prejudice?

Options :

1. More than 50% of all Indians live in villages.

2. Living in a city is expensive. A large part of peoples earning spent on rent and transport.
3. During the harvest season, people in villages spend 12-14 hours working in the fields.

4. City people cannot be trusted, they are cunning and corrupt.

Question Number : 59 Question Id : 8247241907 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 8247241908 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following decisions the state legislature cannot take?
Options :

1. Deploying more police personnel for the safety of women

2. Recruiting soldiers in the Indian army

3. Employing teachers in state government schools.

4. Introducing a Bill in the Vidhan Sabha on welfare of farmers.

Question Number : 60 Question Id : 8247241908 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 8247241909 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the following -
(A) Midday Meal Scheme has helped reduce caste prejudices.

(R) All children eat their meal together in the school.

Options :

1. Both A and R are true; R is the correct explanation of A.

2. Both A and R are true; but R is not a correct explanation of A.
3. Aistrue, Ris false.

4. A and R are both false.

Question Number : 61 Question Id : 8247241909 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 8247241910 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Daily wage work is a type of __
Options :

1. permanent employment

2. regular employment

3. contractual employment

4. casual employment

Question Number : 62 Question Id : 8247241910 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 8247241911 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sudaksana works as a casual worker at a garment factory. Which of the statements below is the

characteristic closest to her work condition?

Options :

1. She gets a regular salary at the end of each month.

2. She has a job security for relatively long period.

3. She gets paid Rs. 350 a day for eight hours and Rs 50 extra for working late

4. She can avail employee Provident Fund.

Question Number : 63 Question Id : 8247241911 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 8247241912 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Democracy improves the quality of all the following except:-
Options :

1. livelihood and occupations



2. decision-making and accountability
3. desires and expectations

4. teaching and learning

Question Number : 64 Question Id : 8247241912 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 8247241913 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is correct in explaining the relationship between 'Media and
Advertising'?

(A) Big business play a role in the selection of news for coverage.

(B) Mass media is dependent on advertisements for generating revenue.
Options:

1.Only A

2.0nly B

3.Both Aand B



4. Neither A nor B

Question Number : 65 Question Id : 8247241913 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 66 Question Id : 8247241914 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which part of the Indian Constitution is related to state duties towards the individual?
Options :

1. Directive principles

2. Fundamental Rights

3. Fundamental Duties

4. Federalism

Question Number : 66 Question Id : 8247241914 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 8247241915 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Sitara has an important test tomorrow, but it is also the time for Wimbledon finals, Sitara begins to
get distracted. Her sister sees through her dilemma and suggests that no one should watch the
match, rather they all decided to read about it in the newspaper the next day. If we apply the

analogy of sister in the given case to that to Indian Constitution, then what role does it play for us?
Options :

1. It is governing our personal choices.

2. It is dictating our interests and disinterests.

3. Itis saving us from getting into bad habits.

4. It is saving us from making harmful decisions on whims.

Question Number : 67 Question Id : 8247241915 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 8247241916 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If Supreme Court strikes down particular law passed by the Parliament, with the judgement that it

is a violation of the Fundamental Rights. This can be called as
Options:

1. Dispute resolution

2. Judicial review

3. Enforcement of the fundamental rights

4. Judicial Activism

Question Number : 68 Question Id : 8247241916 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 8247241917 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Caste hierarchy means:

Options :

1. A ladder like formation in which all the caste groups are placed from the 'lowest' to the 'highest'
castes.

2. A ladder like formation in which some of the important caste groups are placed from the

'highest' to the 'lowest' castes.

3. A ladder like formation in which all the caste groups are placed from the 'highest' to the 'lowest'

castes.

4. A ladder like formation in which some of the important caste groups are placed from the

'lowest' to the 'highest' castes.

Question Number : 69 Question Id : 8247241917 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 8247241918 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher in her upper primary social science class,is going to discuss the topic ‘marginalization’.

Which among the following could be the most appropriate objective for the class?
(A) Students will be able to identify the factors that contribute to marginalization.
(B) Students will be able to recognize the marginalise.

(C) Students will be able to understand the concept of cultural capital.

(D) Students will be able to empathise with the marginalised.

Choose the correct option.
Options :

1.A,B,and C

2.B,Cand D

3.A,Cand D

4.A,Band D



Question Number : 70 Question Id : 8247241918 Question Type

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes Is
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Question Number : 71 Question Id : 8247241919 Question Type

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

At the secondary stage, social sciences mainly comprises of
Options :

1. history, geography political science and economics.

2. political science, statistics, history and civics.

3. history, civics, public administration and international relations.

4. ancient history, geography, political science and civics

: MCQ Option Shuffling : Yes Is



Question Number : 71 Question Id : 8247241919 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 8247241920 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements advocates 'History as Science'?

Options :

1. The underlying facts of history have wide scope and they are so varied that they can seldom be
uniform.

2. Historical data are the product of the human thoughts and action which are constantly
changing.

3. The facts of history are very complicated and seldom repeat in the real sense of the term.

4. History pursues its own techniques to establish and interpret facts like other natural sciences.

Question Number : 72 Question Id : 8247241920 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Teaffer g o - T wye em Tm e FTaada s
Options :

| ST o Fiaffed 727 e Ed © 3 39 fafae 7 3 e vy 2 v

5 UTETTH AT HIHa 1T | 3T hedl 1 &7 & ST (% sgerdt Teat 2

; 31T % 728 9E0 21 et Bl & AU ot 2 WA 9168 3 et At o 1e <1

A aﬁﬁﬁ%ﬁ%ﬁﬁ ﬁﬁmﬂﬁﬁ@ﬁﬁﬁﬁmm?ﬁﬁvW—ﬁdch—ﬂﬁﬁ«ng| AL

Question Number : 73 Question Id : 8247241921 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

In integrated classrooms the teacher may not find the following as a part of classroom
Options :

1. exceptional learners

2. chalk, duster, and teaching aids

3. smart boards and equipment

4. play station

Question Number : 73 Question Id : 8247241921 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 8247241922 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A social science teacher usually assigns different tasks to different students. He believes in :
Options :

1. Students don't like the same kind of work being assigned to all.

2. There exist individual differences between the students.

3. It promotes competition among the students.

4. With this method the students will not be able to copy each other's work.

Question Number : 74 Question Id : 8247241922 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 8247241923 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following classroom incidents would amount to violation of the dignity of a student?
Options :

1. A teacher asks a child to attend his classes without shirt.

2. A student is asking personal questions to another student.

3. A teacher is encouraging girls to play cricket.

4. A student is asked by a teacher to apologise to another student for having hit him.

Question Number : 75 Question Id : 8247241923 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 8247241924 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is always stated in terms of desired behavioural changes?



A. General Aims
B. General objectives
C. Instructional objectives

Choose the correct option.
Options:

1.Only A

2.0nly B

3.0nly C

4.Band C

Question Number : 76 Question Id : 8247241924 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 8247241925 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Discussion method is used in social science teaching and learning when
Options :

1. the lesson is interesting and students express enthusiasm towards the topic
2. students do not want to study and for keeping them interested

3. there is a situation where there is a scope for difference of opinion

4. learners need a change or wish to break from monotony of lecture methods

Question Number : 77 Question Id : 8247241925 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 8247241926 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following factors can affect classroom rhythm?



(a) Availability of drinking water

(b) Season of the month and the location of the school

(c) Availability of transport facility

(d) Rehearsal of the annual day function

Choose the correct option.
Options :

1.a,bandc

2.a,bandd

3.b,candd
4.a,b,candd

Question Number : 78 Question Id : 8247241926 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 8247241927 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The following questions are generally used in a social science class. Choose those which provide

greater scope to develop critical thinking?

A. Describe the processes involved in responding to question hour in Indian Parliament.
B. Why is it important to have question hour in Indian Parliament?

C. Describe the roles and responsibilities of the Member of Legislative Assembly (MLA).

D. If you were a Member of Legislative Assembly (MLA) of a state, list two questions that you

would ask in the assembly session.

Choose the correct option.
Options :

1.0nlyAandB
2.0nlyBand C
3.0nlyBand D

4.0nly D

Question Number : 79 Question Id : 8247241927 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 8247241928 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In upper primary social and political life classes, narratives are best used towards encouraging
A. introspection

B. discussion

C. reasoning

D. interpretation

Choose the correct option.

Options :



1.Aand B
2.Band C
3.Cand D

4. Aand D

Question Number : 80 Question Id : 8247241928 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 8247241929 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Social science club is run in collaboration with

Options :



1. social studies teacher and school management.
2. social studies teacher and students of the school.
3. community members, educators, parents and other stakeholders.

4. state government, teacher, students and stakeholders etc.

Question Number : 81 Question Id : 8247241929 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 8247241930 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Unit analysis in social studies focuses on:-

Options :

1. creating better understanding of thematic content

2. stimulating and creating interesting teaching-learning process.
3. breaking the entire contents into various lessons, topics etc.

4. presenting units as a multidisciplinary entity .



Question Number : 82 Question Id : 8247241930 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 8247241931 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Examples of secondary sources include:

Options :

1. letters, diaries, photographs, artefacts and interviews.

2. oral histories, newspaper or journal articles and memoirs or autobiographies.
3. audio or video recordings of life events.

4. textbooks, dictionaries and encyclopaedias, biographies and dissertations etc.

Question Number : 83 Question Id : 8247241931 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 8247241932 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Project method is based on which principle?
Options :

1. Principle of immediate reinforcement.

2. Principle of small steps.

3. Principle of social experience.

4. Principle of artificiality.

Question Number : 84 Question Id : 8247241932 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 8247241933 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following will help learners to be conscious of their progress in learning while in
dynamic phase?

Options :

1. Formative Evaluation

2. Summative Evaluation

3. Placement Evaluation

4. Diagnostic Evaluation

Question Number : 85 Question Id : 8247241933 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 8247241934 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A prospective teacher writes one of the instructional objectives as “students shall be able to
appraise the advantages of ICT in teaching of social science." In which domain shall this objective

fall?

Options :

1. Remember

2. Synthesis

3. Comprehension

4. Evaluation

Question Number : 86 Question Id : 8247241934 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 8247241935 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



How do you think your neighbourhood shop gets its goods? Find out and explain with some
examples?

This question attempts to assess students' abilityto_
Options :

1. compare experiences

2. extrapolate from situations

3. provide contrast answers

4. apply concepts to different concepts

Question Number : 87 Question Id : 8247241935 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Wwﬁﬁﬁ%%mm?ﬁgﬁaﬁ%@rwm TR ] E“’;WWHWH I T )

T T B T 1 G T 2
Options :

AT T FART FAT
'l. ] d

e N
5 et & TaT SR

5 TaufE s umT

. ot gevT o s1g4mom AT FA

Question Number : 88 Question Id : 8247241936 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Why do a large number of people live in the Northern Plains?



This question attempts to assess student's ability to
Options:

1. generalise

2. hypothesise

3. extrapolate

4. reason

Question Number : 88 Question Id : 8247241936 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 8247241937 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

While drawing inferences from an 'archaeological burial site' a social science teacher must provide

opportunities to
Options :

1. know cultural practices of earliest known people



2. find out burial preferences of earliest known people
3. list various items that were buried with the dead

4. develop an understanding about social difference and status in ancient society.

Question Number : 89 Question Id : 8247241937 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 8247241938 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following skills indicates analytical abilities developed among students while teaching
the topic ‘Diversity’ and Discrimination'?

Options :

1. Being able to identify prejudice and discrimination in various scenarios

2. Being able to explain how inter-dependence leads to social well being

3. Being able to list constitutional provisions that ensure equality

4. Being able to define prejudice and stereotyping



Question Number : 90 Question Id : 8247241938 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I
Section Id : 82472457
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724105

Question Shuffling Allowed : Yes



Question Id : 8247241939 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension

Read the passage given below and answer the questions/ comp lete
the statements that follow by choosing the appropriate options
from the given ones.

Of Mortimer she saw very little. Farm and woods and trout
streams seemed to swallow him up from dawn till dusk. Once,
following the direction she had seen him take in the morning, she
came to an open space among nut bushes, which were further
shut in by huge yew trees, in the centre of which stood a stone
pedestal surmounted by a small bronze figure of a youthful Pan
(Greek god of shepherds). It was a beautiful piece of
workmanship.

Her attention was, however, held by the fact that a newly cut
branch of grapes had been placed as an offering at its feet. Grapes
were none too plentiful at her home. Sylvia snatched the bunch
angrily from the pedestal. She was filled with annoyance as she
strolled slowly homeward, and then gave way to a sharp feeling
of something that was near fright; from a thick tangle of bushes a
boy’s face was scowling at her, brown and beautiful, with
unutterably evil eyes.

It was a lonely pathway; all pathways around her home were
lonely for that matter. So she sped forward without waiting to
give a closer look at this sudden source of freight. It was not till
she had reached her house that she discovered that she had
dropped the bunch of grapes in her flight.

‘I saw a youth in the wood today’, she told Mortimer that

evening, ‘brown-faced and rather handsome, but a rascal to look
at. A gipsy lad, I suppose.’

‘A reasonable theory’, said Mortimer, ‘only there aren’t any
gipsies in these parts at present’.

Sub questions

Question Number : 91 Question Id : 8247241940 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Sylvia saw very little of Mortimer as he:

came home only now and then.
was a hard working farmer.
grew grapes in the forests.
wanted to keep away from her.

bl e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 8247241941 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
(a) Sylvia wanted to know where Mortimer spent his
time.
(b)One morning she noted the path taken by him.

(a) is right and (b) is wrong
(b) is right and (a) is wrong
Both (a) and (b) are right. (a) leads to (b)
Both (a) and (b) are right. (b) leads to (a)

il il

B

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247241942 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



After leaving home, Sylvia was surprised to reach :

a thick group of trees.

a vine laden with grapes.

the statue of Pan in an open space.
a stream full of trout (a fish).

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 8247241943 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
(a) Sylvia always had grapes at her dining table.
(b) Surrounded by yew trees were nut growing bushes.
(c) Pan’s stone statue had a bunch of grapes at its feet.

(a) is right and (b
. (b) is right and (a
. (c) isright and (b
. (a) is right and (¢

is wrong
is wrong
is wrong
is wrong

R

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247241944 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The order in which Sylvia experienced various emotions,
while in the forest was :

Surprise, Shock, Anger, Fear.
Shock, Anger, Fear, Surprise.
Anger, Fear, Surprise, Shock.
Fear, Surprise, Shock, Anger.

ol o

B

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 8247241945 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘streams seemed to swallow him up’. The figure of speech
used in the above expression is:

Simile
Alliteration
Metaphor
Trony

o bt

el

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247241946 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘which were further shutin ........
The underlined word is a/an

Noun
Verb
Adjective
Adverb

i e

s

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 8247241947 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘she discovered that she had........7
The word opposite in meaning to the underlined word is

recovered
closed
revealed
hid

b bd =

P

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247241948 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Sylvia snatched the bunch angrily’.
The underlined word means the same as

picked
grabbed
pulled
threw

i e

P

Options :
1.1
2.2
3.3
4.4

Question Id : 8247241939 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension



Read the passage given below and answer the questions/ complete
the statements that follow by choosing the appropriate options
from the given ones.

Of Mortimer she saw very little. Farm and woods and trout
streams seemed to swallow him up from dawn till dusk. Once,
following the direction she had seen him take in the morning, she
came to an open space among nut bushes, which were further
shut in by huge yew trees, in the centre of which stood a stone
pedestal surmounted by a small bronze figure of a youthful Pan
(Greek god of shepherds). It was a beautiful piece of
workmanship.

Her attention was, however, held by the fact that a newly cut
branch of grapes had been placed as an offering at its feet. Grapes
were none too plentiful at her home. Sylvia snatched the bunch
angrily from the pedestal. She was filled with annoyance as she
strolled slowly homeward, and then gave way to a sharp feeling
of something that was near fright; from a thick tangle of bushes a
boy’s face was scowling at her, brown and beautiful, with
unutterably evil eyes.

It was a lonely pathway; all pathways around her home were
lonely for that matter. So she sped forward without waiting to
give a closer look at this sudden source of freight. It was not till
she had reached her house that she discovered that she had
dropped the bunch of grapes in her flight.

‘I saw a youth in the wood today’, she told Mortimer that
evening, ‘brown-faced and rather handsome, but a rascal to look
at. A gipsy lad, I suppose.’

‘A reasonable theory’, said Mortimer, ‘only there aren’t any
gipsies in these parts at present’.

Sub questions

Question Number : 91 Question Id : 8247241940 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sylvia saw very little of Mortimer as he:

came home only now and then.
was a hard working farmer.
grew grapes in the forests.
wanted to keep away from her.

Wb -

e

Options :
1.1
2.2



3.3
4.4

Question Number : 92 Question Id : 8247241941 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
(a) Sylvia wanted to know where Mortimer spent his
time.
(b)One morning she noted the path taken by him.

(a) is right and (b) is wrong
(b) is right and (a) is wrong
Both (a) and (b) are right. (a) leads to (b)
Both (a) and (b) are right. (b) leads to (a)

il

B

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247241942 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

After leaving home, Sylvia was surprised to reach :

a thick group of trees.

a vine laden with grapes.

the statue of Pan in an open space.
a stream full of trout (a fish).

s vl

e

Options :
1.1
2.2
3.3
4.4



Question Number : 94 Question Id : 8247241943 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
(a) Sylvia always had grapes at her dining table.
(b) Surrounded by yew trees were nut growing bushes.
(c) Pan’s stone statue had a bunch of grapes at its feet.

(a) is right and (b) is wrong
. (b) is right and (a) is wrong
. (c) is right and (b) is wrong
. (a) is right and (c) is wrong

L b =

)
)
)
)

I

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247241944 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The order in which Sylvia experienced various emotions,
while in the forest was :

Surprise, Shock, Anger, Fear.
Shock, Anger, Fear, Surprise.
Anger, Fear, Surprise, Shock.
Fear, Surprise, Shock, Anger.

e oo

il

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 8247241945 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

‘streams seemed to swallow him up’. The figure of speech
used in the above expression is:

Simile
Alliteration
Metaphor
Trony

o bt

g

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247241946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘which were further shutin ........0
The underlined word is a/an

Noun
Verb
Adjective
Adverb

i e

P

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 8247241947 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘she discovered that she had........7
The word opposite in meaning to the underlined word is

recovered
closed
revealed
hid

b bd =

o

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247241948 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Sylvia snatched the bunch angrily’.
The underlined word means the same as

picked
grabbed
pulled
threw

i e

-

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 824724106

Question Shuffling Allowed : Yes

Question Id : 8247241949 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No

Question Numbers : (100 to 105)



Question Label : Comprehension

Read the poem given below and answer the questions/ complete the
statements that follow by choosing the appropriate options from the
given ones.

It is not growing like a tree

In bulk, doth make Man better be:

Or standing long an oak, three hundred vear,
To fall a log at last, dry, bald, and sere:

A lily of a day

Is fairer far in May,

Although it fall and die that night —

It was the plant and flower of Light.

In small proportions we just beauties see:
And in short measures life may prefect be.

Sub questions

Question Number : 100 Question Id : 8247241950 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is an oak tree known for?

its huge size
no fruit grows on it
its long life
both 1 and 3

e ol vl

s

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 8247241951 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



An oak tree teaches us that :

a long life can help one to achieve a lot.
perfection comes only with the passage of time.
size does not matter in life.

to become leafless at last is not all that bad.

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247241952 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) An aged man and an old oak tree are similar in many
ways.
(b) A lily is no good as it lives for just a day.

1. (a) is right and (b) is wrong
2. (b) is right and (a) is wrong
3. Both (a) and (b) are right
4. Both (a) and (b) are wrong.

Options :

1.1

2.2

3.3

4.4

Question Number : 103 Question Id : 8247241953 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements:
(a) Small is beautiful.
(b)Lily needs the whole month of May to bloom.
(c) Even a young person can be noble.

. (a) is right and (b) is wrong.
. (b) is right and (c) is wrong.
. (c) is right and (a) is wrong.
Both (a) and (c) are right.

W d =

i

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247241954 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The figure of speech used in the opening line is a/an

simile
metaphor
personification
irony

e tel e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 8247241955 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Lily has been called ‘flower of light’. It means that the lily:

is a source of light.

is very light in weight.

dies when the sun is set.
spreads beauty and fragrance.

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Id : 8247241949 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension

Read the poem given below and answer the questions/ complete the
statements that follow by choosing the appropriate options from the
given ones.

It is not growing like a tree

In bulk, doth make Man better be:

Or standing long an oak, three hundred vear,
To fall a log at last, dry, bald, and sere:

A lilv of a day

Is fairer far in May,

Although it fall and die that night —

It was the plant and flower of Light.

In small proportions we just beauties see:
And in short measures life may prefect be.

Sub questions

Question Number : 100 Question Id : 8247241950 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What is an oak tree known for?

its huge size

no fruit grows on it
its long life

both 1 and 3

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 8247241951 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

An oak tree teaches us that :

1. a long life can help one to achieve a lot.

2. perfection comes only with the passage of time.
3. size does not matter in life.

to become leafless at last is not all that bad.

s

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247241952 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements:
(a) An aged man and an old oak free are similar in many
ways.
(b) A lily is no good as it lives for just a day.

1. (a) is right and (b) is wrong
2. (b) is right and (a) is wrong
3. Both (a) and (b) are right
4. Both (a) and (b) are wrong.

Options :

1.1

2.2

3.3

4.4

Question Number : 103 Question Id : 8247241953 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Study the following statements:
(a) Small is beautiful.
(b)Lily needs the whole month of May to bloom.
(c) Even a young person can be noble.

. (a) is right and (b) is wrong.
. (b) is right and (c) is wrong.
. (c) is right and (a) is wrong.
Both (a) and (c) are right.

W d =

i

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247241954 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The figure of speech used in the opening line is a/an

l. simile

2. metaphor

3. personification
irony

e

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 8247241955 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Lily has been called ‘flower of light’. It means that the lily:

is a source of light.

is very light in weight.

dies when the sun is set.
spreads beauty and fragrance.

SR e

e

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 824724107

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 8247241956 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Learners construct the grammar of a language when

they are provided with comprehensible inputs in anxiety-free environment.
they are provides with inputs which makes them anxiety stricken.

they use language for purpose and inputs becomes output.

they memorize the rules of the language through drills.

LI 1D

s

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 8247241956 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Learners construct the grammar of a language when

they are provided with comprehensible inputs in anxiety-free environment.
they are provides with inputs which makes them anxiety stricken.

they use language for purpose and inputs becomes output.

they memorize the rules of the language through drills.

W1

&

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247241957 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does “language register’ denote?

The social difference in language use by people.

The variation in language according to the context in which it is used.
Language use in an acceptable way in terms of its function and grammar.
Use of language for official purposes and in government functions.

w1

e

Options :



1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247241957 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What does “language register’ denote?

The social difference in language use by people.

The variation in language according to the context in which it is used.
Language use in an acceptable way in terms of its function and grammar.
Use of language for official purposes and in government functions.

Wt

e

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 8247241958 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach to language teaching believes, ‘language consists not of traditional grammar and vocabulary but often
of multi-word prefabricated chunks’?

. Lexical Approach

. Communicative Approach

. Grammar-translation method
. Engaging Approach

g tad bl —

Options :
1.1
2.2
3.3
4.4



Question Number : 108 Question Id : 8247241958 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach to language teaching believes, ‘language consists not of traditional grammar and vocabulary but often
of multi-word prefabricated chunks'?

1. Lexical Approach

2. Communicative Approach
3. Grammar-translation method
4. Engaging Approach

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 8247241959 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A learner listens to specific details, recognising cognates and word order patterns. What strategy does he adopt for
listening?

1. Top down listening processes
2. Mixed strategies for listening
3. Constructivist strategies

4. Bottom up listening processes

Options:
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 8247241959 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A learner listens to specific details, recognising cognates and word order patterns. What strategy does he adopt for
listening?

1. Top down listening processes
2. Mixed strategies for listening
3. Constructivist strategies

4. Bottom up listening processes

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 8247241960 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is/ are NOT true of vocabulary learning?

Vocabulary is a precondition for speaking and understanding the language.

It is important to move from meaning to form of the word while introducing the words to young learners.
Most learning at the primary level is vocabulary learning.

Grammar is important for learning vocabulary.

= =l

a. b, c. and d are true.
aand ¢ are true.

a, band c are true.

4. dis not true,

kel el

Options :
1.1
2.2
3.3

4.4

Question Number : 110 Question Id : 8247241960 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is/ are NOT true of vocabulary learning?

Vocabulary is a precondition for speaking and understanding the language.

It is important to move from meaning to form of the word while introducing the words to young learners.
Most learning at the primary level is vocabulary learning.

Grammar is important for learning vocabulary.

o e oo

a, b, ¢, and d are true.
aand ¢ are true.

a, band ¢ are true.

4. dis not true.

ol e

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247241961 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A task which supports learners to connect form, meaning and use is known as

Declarative knowledge of grammar.
Present-Practice-Produce model of grammar learning.
Communicative tasks in grammar teaching-learning.
Content based grammar teaching.

Wk e

-

Options:
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247241961 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



A task which supports learners to connect form, meaning and use is known as

Declarative knowledge of grammar.
Present-Practice-Produce model of grammar learning.
Communicative tasks in grammar teaching-learning.
Content based grammar teaching.

re il e

=

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 8247241962 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach to writing involves ‘Brainstorming, Outlining, Drafting, Revising, Proof-reading and writing the final
draft’?

L. Process Approach
2. Product Approach
3. Formal Approach
4. Inform Approach

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 8247241962 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which approach to writing involves ‘Brainstorming, Outlining, Drafting, Revising, Proof-reading and writing the final
draft’?

L. Process Approach
2. Product Approach
3. Formal Approach
4. Inform Approach



Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247241963 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy (NEP) 2020 recommends the study of foreign languages as .

an a language in place of English as a second language.
additional options at the middle stage.

additional options at the secondary stage.

an option under three language formula.

g o) opes

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247241963 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy (NEP) 2020 recommends the study of foreign languages as .

an a language in place of English as a second language.
additional options at the middle stage.

additional options at the secondary stage.

an option under three language formula.

Wi bl pes

Options :
1.1
2.2

3.3



4.4

Question Number : 114 Question Id : 8247241964 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true of Sign L anguage?

Sign language has a grammar.

Sign language is a natural language.

Sign language does not have a grammar.
There are many varieties of Sign Language.

o Rl

>

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 8247241964 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT true of Sign Language?

Sign language has a grammar.

Sign language is a natural language.

Sign language does not have a grammar.
There are many varieties of Sign L. anguage.

rched e

o

Options:
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 8247241965 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

A learner of class VIII begins to read short stories after his language teacher told him about a short story by Sadat
Hassan Munto. What is this reading known as?

. Extensive reading
. Intensive reading

l
2
3. Reading with purpose
4, Extrapolative reading

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 8247241965 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A learner of class VIII begins to read short stories after his language teacher told him about a short story by Sadat
Hassan Munto. What is this reading known as?

. Extensive reading
. Intensive reading

l
2
3. Reading with purpose
4, Extrapolative reading

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 8247241966 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of the following are true of authentic materials for language learning?

a. Materials should take into consideration the socio-cultural milieu of the region.
b. Materials should provide a route map for learner to move on.
c. Any materials could be taught in any region.

l. a,band c are true.
2. aand b are true
3.  candaare nottmue
4. cand b are true
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 8247241966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which one of the following are true of authentic materials for language learning?
a. Materials should take into consideration the socio-cultural milieu of the region.

b. Materials should provide a route map for learner to move on.
c. Any materials could be taught in any region.

l. a,bandc are true.
2. aand b are true
3.  candaare nottrue
4.  cand b are true
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247241967 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Assessment while learning” refers to

1. Assessment as an integrated activity in the processes of the classroom.

2. Assessment at the end of the term or a period, summative assessment.

3. Assessment over a period of time through continuous monitoring.

4. A continuous and comprehensive processes carried out throughout the year.

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247241967 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

*Assessment while learning’ refers to

1. Assessment as an integrated activity in the processes of the classroom.

2. Assessment at the end of the term or a period, summative assessment.

3. Assessment over a period of time through continuous monitoring.

4. A continuous and comprehensive processes carried out throughout the year.

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247241968 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mother tongue based multilingualism proposes that

1.every learner studies in English medium along with their languages in school.

2. every learner studies in their mother tongue during the primary vears and moves to English in class VI.

3.every learner begins her schooling in mother tongue and move on to add two or many languages as they progress.
4.every learner begins with the state language and move on to add two or many languages as they progress.



Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247241968 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mother tongue based multilingualism proposes that

1.every learner studies in English medium along with their languages in school.

2. every learner studies in their mother tongue during the primary vears and moves to English in class VL.

3.every learner begins her schooling in mother tongue and move on to add two or many languages as they progress.
4.every leaer begins with the state language and move on to add two or many languages as they progress.

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 8247241969 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Understanding what the text is about” is

1. inferring

2. understanding the argument of the author
3. summarising

4. finding the plot of the story

Options :
1.1
2.2

3.3



4.4

Question Number : 119 Question Id : 8247241969 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Understanding what the text is about” is

1. inferring

2. understanding the argument of the author
3. summarising

4. finding the plot of the story

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 8247241970 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT considered as an authentic activity in the materials?

1. Based on the reading of the texton ...... write a letter to your friend on the ideas of the text. .
2. Write a paragraph on “a cow’ in about two hundred words.

3. Create a sub-text of the story and write the events of story in ten points.

4. Complete the paragraph supplying the missing words based on your reading of the story.

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 8247241970 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT considered as an authentic activity in the materials?

1. Based on the reading of the texton ...... write a letter to your friend on the ideas of the text. .
2. Write a paragraph on *a cow’ in about two hundred words.

3. Create a sub-text of the story and write the events of story in ten points.

4. Complete the paragraph supplying the missing words based on your reading of the story.

Options:
1.1
2.2
3.3
4.4

Language II
Section Id : 82472458
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Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
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Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724108
Question Shuffling Allowed : Yes

Question Id : 8247241971 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension
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Sub questions

Question Number : 121 Question Id : 8247241972 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 8247241973 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 8247241974 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 8247241975 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 125 Question Id : 8247241976 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 8247241977 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 127 Question Id : 8247241978 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 8247241979 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Options :
1.1
2.2
3.3
4.4

Question Id : 8247241971 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)
Question Label : Comprehension
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Question Number : 121 Question Id : 8247241972 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 8247241973 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 8247241974 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 8247241975 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 125 Question Id : 8247241976 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 126 Question Id : 8247241977 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 8247241978 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
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Question Number : 128 Question Id : 8247241979 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1

2.2

3.3

4.4
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Question Shuffling Allowed : Yes

Question Id : 8247241980 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No

Question Numbers : (129 to 135)



Question Label : Comprehension
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Question Number : 129 Question Id : 8247241981 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
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Question Number : 130 Question Id : 8247241982 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 131 Question Id : 8247241983 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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2.2

3.3

4.4

Question Number : 132 Question Id : 8247241984 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 133 Question Id : 8247241985 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 134 Question Id : 8247241986 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 135 Question Id : 8247241987 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Id : 8247241980 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension
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Sub questions

Question Number : 129 Question Id : 8247241981 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 130 Question Id : 8247241982 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 131 Question Id : 8247241983 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 132 Question Id : 8247241984 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 133 Question Id : 8247241985 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 134 Question Id : 8247241986 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 135 Question Id : 8247241987 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
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Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 8247241988 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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2.2
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Question Number : 136 Question Id : 8247241988 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TR R ST AT 7 7 W 4 £ S T 9 T A 9 S T v 4 2] 7% o7 vy T
R ot 0 e 2] 3 A )

|. FE 1 W

2. V&

3. T S

4, AT
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 8247241989 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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. ST 5 SIS i T T
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Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 8247241989 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

WIS F TS | 7 109 27
1. A= 5 AT il =5 T
WTST & I FH F T mtﬁﬁmwﬁﬁfmﬁ
WTST ST 31 AT ol ST &
TST ST © U8e] A1 1 ar=-To=m

[
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Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 8247241990 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T 1 ST A e 3 A 0 1.7 5 T e & T A7 e 7 -0 9 5
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oG, 8 T T 21 R T 1 0 e €
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Options :
1.1
2.2
3.3

4.4

Question Number : 138 Question Id : 8247241990 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TP 7 1 TR 0 R T 1 017 o S 3 G2 2 i A S e -7 0 3
T e et 5 A 5 T e e S T 3 e, S o e T | A
Tegert 0 AT T T €1 8 e 1 0 e €
|. TR
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Options :
1.1
2.2
3.3

4.4

Question Number : 139 Question Id : 8247241991 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 8247241991 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 8247241992 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



freferitaa o & 1 ot 370 ST37 S0 TR & 31 -6 §19-377 i 87
A. @%Eﬁcn-ﬁﬁ EEECREIR =, ﬁ?ﬁﬁqﬁmﬂ# TR e 3 Eﬁwu g
B. %Twaﬁ%eﬁ%%aﬁ mﬁmm&%%vml
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. T (A) ¥ (B) ST29-I0 TR 2|
. (B) T (A) ZF Z9-2ra T 2|

Options :

—
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1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 8247241992 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 8247241993 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
o o T T % S T T A 7 ol 4 T 3 8 7 T 1 O o o ] ] 9 Y 1
T T T o TR | 7 W 1 4T 5 T

|, 7 1%

), FHHATR

3, R e W
4, T % 2 et o8
Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 8247241993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
4 o W S 1 1 S A 7 o T 1 R o e o o | ] R
ST 7 I 1 9 Rl 6 T 40
|, % 1o T
), FHeA TR
3. T3 e W
4. 9 T T AT T
Options:
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 8247241994 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 8247241994 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 8247241995 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
TR T AR e
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Options :

1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 8247241995 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T & TR AT W SR e
oV 51 I 1 ST 261 TG W 36 o, o T 1 T S 281 T TR 91 3 1 o919 &
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Options:

1.1
2.2
3.3

4.4



Question Number : 144 Question Id : 8247241996 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

TR} T STV el 13 % VT o1 et 0 12 et T & A e 5 0 & Ve § 39
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Options :

1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 8247241996 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4



Question Number : 145 Question Id : 8247241997 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 8247241997 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 8247241998 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

LT TRTeT A, 2020 TR ST sht ST e 27
1. mﬁﬁ%@ﬁmwaﬁtﬂm
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Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 8247241998 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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f: mﬁﬁﬁ%ﬂ?ﬁwwaﬁtﬂm
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Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 8247241999 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 8247241999 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 8247242000 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

-2

1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 8247242000 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 8247242001 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 8247242001 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 8247242002 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 8247242002 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
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